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J)\b—TEEDOREFEE - SEFIm DA ET Ordinary income and net income of group companies
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(B73H million yen)
RETEE FY 06.3 07.3 08.3 09.3 10.3 11.3 12.3 13.3 14.3 154
ZEFEE Ordinary income 31,261 | 43,804 | 39,432 | 34,337 | 34,415| 39,499 | 43,823 | 46,117 | 49,188 | 37,710
HHAREFIEE  Net income 19,519 | 29,273 | 20,611 | 16,449 | 17,312 | 18,603 | 28,002 | 28,426 | -32,681 | 21,715
EEHEROBMEET  Gross basis before consolidation adjustment
- JIb— 7’11:%0)‘&\1%?&:561%2& Total assets and net worth of group companies
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(B7H million yen)
RETEFE FY 06.3 07.3 08.3 09.3 10.3 11.3 12.3 13.3 14.3 15.4
H8EBEE Total assets 676,365| 702,462 | 747,940| 755,925 | 859,313| 838,247 | 861,228| 951,926 1,060,149 1,172,093
BE2&7Z< Net worth 281,939 299,445 | 307,468 | 312,540 | 359,503| 356,864 | 386,110| 443,005|537,643 610,820
BEEARLE NSO 417 426|411  41.3) 418 426 448) 465 507 521
EEEHERIDBMEET Gross basis before consolidation adjustment
TIV—TTEEDOEFIFEEIRST Interest-bearing liabilities of group companies
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(8573 million yen)
RETEE FY 06.3 07.3 08.3 09.3 10.3 11.3 12.3 13.3 14.3 15.4
ARFRERS 258,083| 259,583| 295,151 310,430 | 368,291| 340,859 | 335,784 341,336 361,439 374,299
nterest-bearing liabilities

EEHERIDEMAET  Gross basis before consolidation adjustment
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TIV—TEEDEAFEHE  Financial ratio of group companies
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RETEFE FY 06.3 07.3 08.3 09.3 10.3 11.3 12.3 13.3 14.3 15.4
LSRR Retum on sales 4.3 5.8 3.7 3.0 3.8 3.7 54 54 5.7 3.8
= R = % x100 Retur on sales = —Netincome ___ ;o
(%) HSEEFTmE (ROA) Return on total assets (ROA)
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REHEE FY (%)
SEHEE FY 06.3 07.3 08.3 09.3 10.3 11.3 12.3 13.3 14.3 15.4
{SEEAIRE(ROA) Retun on total assets 3.2 4.2 2.8 2.2 2.1 2.2 3.3 3.1 -3.2 1.9
SRR = % x 100 Return on total assets :Avera’\gl;eetdir:g?arrgsstes X100
(%) §E§2K3FIJE$ (ROE) Return on equity (ROE)
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‘Eé—fﬁﬁé Fy 06 08 08 09 10 11 12 13 14 15 %)
SETEE FY 06.3 07.3 08.3 09.3 10.3 11.3 12.3 13.3 14.3 15.4
ECEMIREROE) Rewm onequiy| 8.2 10.1 6.8 5.3 5.2 5.2 7.5 6.9 -6.7 3.8
BECEAFSE= %ﬁﬂﬁ*uﬁ Net income

FHECER

x 100 Return on equity = Averaged net worth X100




